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| % = STANDARDIZED TEST PRACTICE
Exs.2,5,27,and 35

MULTIPLE REPRESENTATIONS
Ex.36

SKILL PRACTICE

1. VOCABULARY The following statement is true because of what property?
The measure of an angle is equal to itself.

2. % WRITING Explain how to check the answer to Example 3 on page 106.

{ EXAMPLES | WRITING REASONS Copy the logical argument. Write a reason for each step.
n

igstics| % XT12=Tx+8  Gien 4.5(c—1)=4x+13  Given
F forxs. 3-14 —ax-12=8 2 Sx-5=4x+13 2
—4x=20 2 x-5=13 2

x=-5 2 x

8 2
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5. % MULTIPLE CHOICE Name the property of equality the statement
illustrates: If XY = AB and AB = GH, then XY = GH.

@ Substitution (B Reflexive @© Symmetric (@ Transitive

WRITING REASONS Solve the equation. Write a reason for each step.

6. 5¢—10= ~40 7. 4x+9=16-3x 8. 5(3x - 20
® 9 10. 2(-x - 5) = 12 11 44— 2(8x + 4)
12 46x-9) = 26+ 7) 13 2v- 15

(21 + 11

=21+10x  14. 3(7x—9) = 19x = -15

@ ALGEBRA Solve the equation for y. Write a reason for each step.

onp-106 15. 5x+y=18 16, —4x+2y=8 17. 12 - 3y = 30x

for Exs. 15-20

18, 3v+ 9y =

7 19. 2y + 05y = 16

3

4
COMPLETING STATEMENTS In Exercises 21-25, use the property to copy and
complete the statement.

@ Substitution Property of Equality: If AB =
22. Symmetric Property of Equality: If m£1 = m£2, then _2_.

on pp. 107108
for Exs. 21-25

0, then AB+ CD = _2

23. Addition Property of Equality: If AB = CD, then _2_+ EF

24. Distributive Property: If 50 + 8) =2, then 2 x+ 7 =

25. Transitive Property of Equality: If m£1 = mZ2 and m£2 = mZ3,
then_2 .

26. ERROR ANALYSIS Describe and correct the error in solving the equation
| forx.
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